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0S10 - Cexkyus TB (6ud ¢ czadu)

Cneyuoukaduqa AQCTH 16MM.

N n/n|Haumenobanue |Pasmep [Kon-bo
17 ®acad dwuxka [1320x177 1
18 ®acad dwuka [1766x395 1
19 GokoBawuka aeb [334x1L2 2
20 bokob.auuka npab. [334x142 2
21 30d. navens Auw. |[616x142 2
22 Gokob awuka aeh |33Lx29L 2
23 bokob awuka npab |334x294 2 4
24 300, naveab dul |835x294 2 Nm \
25 Xecmkocmb aw.|350x100 2 — ] ]
26 3/cmenka 1304x868 1 | \
261 |3/cmenko 1304%868 | 1 = ° Mg
27 Coed./nnanka 1302x150 1 1
N / /I
Cneyuopukagua [ABI A 5
28 Ovo Awuka 835x357 2 —
29 OHo Awuka 616x357 2 ——
30 3/cmenka 1750x384 | 1 "
31 3/cmenka 1750%396 1 1 .
R Uume n03.26/26_1 cmanyms NE | [
naaHkou no3.27 wypynamu 4x30 —~ I B
—a=0—§ 0
79 ~
177 27 29 =]
| [
=




